| Inter (Part-1) 2021 e
‘|computer Science ks | PAPER:l]
 |Time: 20 Minutes| (OBJECTIVE TYPE) | Marks: 15|
Note. Four poss:ble answers A, B, C and D to each guestion
are gwen The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in

the answer-book. Cutting or filling two or mme cmles
will result in zero mark in that ques’uon

| '-]MS—ACCESS)

1-1- Different attributes. in two different tab]es having

same name are referred to as:

‘(a) Synonym ~ (b) Homonym v o
=t (¢) Acronym -~ (d) Mutually exclusive = =~ ..
i e - The mampulated and processed data is called
2.2 (a) Object - - (b) Information v
 (¢) Knowledge ' (d) Data 7
B i Customers, cars and parts are examp]es of‘

~ (a) Entities v/
(c) Cardinals -

(b) Attributes
X)) Relationshlps

il 4- - A database coliensts of various components cal]ed the:

; ¢ 3

- (a) Tool
* (c) Entities v/

5- ~ In the relational model
" which data lsstored.r :

(a) A new table

.. (b). Properties -
" (d) Ob_]CCt 4

(b) Re;:ord

il 7_(a) Attribute _ 5
- (c) Table v - (d) Form
~6-  Insert commandlsused to insert:

(b) A new record v -

() Dependencles ; (d) Anew query

' J‘ C-Langl_lage[

_is the basic structure in

ek Void occupy how many bytes fit oz emory" _
(a) ZCTO ‘/ 7 ' (b) One _ ,.
(C)Two (d)Foul' 1
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A loop inside the body of another loop: -
- (a) While loop i (®) Forloop
- (c) Nestedloopv"  {d) Infinite loop |
Escape sequence \isused toprint: =

‘Formal arguments are also called:

(a) Actual arguments ‘(b) Dummy arguments v
(¢) Original arguments (d) Referenced arguments_ i

(@) Newline® . (b) Backslash v _

7« (C):Space . i i (d) Tab
‘The symbol ‘=* repments' '
. (a) Companson operator

| (b) Ass:gnment operator{ Foes

$ - (c) Cpreprocessor  (d) Loader o
: 'geteh ()isa part of

(c) Equalto operator

7 _(d) Terminal operator ! A
- 12-

Preproeessor dlreetrves are commands for: -
(a) Mlcroproeessor (b) Language processor vee

(a) stdioh - (b) comoh/

L I O) mathh (@ strmgh

Whleh of the followmg operators has lowest

‘ preeedenee‘? ', 5 | = g

: '(a)' R (b)+ Sk, ok

W, (Ol ARG ITE S1(:) Bt s R st _
AR lf statement msnde another if statement- BRI
~ (a) if statement’ ~(b) insideif :

3 'i““. :

(c) Nested if statement v (d) Mld If s sk ”
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